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QUESTION 1

What do you need to consider when creating a secondary index on a table? (Choose two.) 

A. The table will be updated more quickly if you create more indexes. 

B. The index must always be unique. 

C. The index can be created for specific database systems only. 

D. The most frequently selected fields should be at the first positions in the index. 

Correct Answer: CD 

 

QUESTION 2

During interactive reporting, at what point does sy-Isind get incremented by the system? 

A. When you programmatically increment it 

B. At the end of an interactive processing block 

C. At the beginning of an interactive processing block 

Correct Answer: C 

 

QUESTION 3

How does a Perform on Commit differ from a Perform stement? (More than one answer is correct) 

A. subroutines called using on commit have no interface 

B. subroutines called using on commit pass parameters by reference only 

C. subroutines called using on commit pass parameters by value only 

D. subroutines called using on commit use global da only 

Correct Answer: AD 

 

QUESTION 4

How many stistics or ranked lists allowed per query? 

A. 10 

B. Unlimited 

C. 9 
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D. 1 

Correct Answer: C 

 

QUESTION 5

What will cause the system to implicitly trigger the database commits? (More than one answer is correct) 

A. CALL SUBSCREEN 

B. At User-Command 

C. Message I001. 

D. Exit the Transaction 

E. CALL TRANSACTION 

Correct Answer: CE 
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